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SN 8BS
Hm: FOIME 2Y(43E)
el FUNXME 2 (S d &)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
301 LEt2 A3 1,260 1,260 0
12 JIet24=2 1,260 1,260 0
O=F2UXNXIME NHASAHA S414|
7,000& %180 1,260
405 KHabH =4I 3,500 0 3,500
01 N ESFSHI 3,500 0 3,500
O0lsAl0t013 & BT 7Y 3,500,000 3,500
X2 SOt EEA 5,000 5,000 0
307 2iz2told 5,000 5,000 0
04 QI2FSHALE & 5,000 5,000 0
ONXE totE=H Mzl 5,000,000& 5,000
MXE dA8eIIiz 3,000 0 3,000
307 21201 ™ 3,000 0 3,000
04 QI2FSHALE & 3,000 0 3,000
OntxlE dgdellItizl izl 3,000,000 3,000
A= 3,600 3,600 0
307 212told 3,600 3,600 0
04 QIZHSHALE X 3,600 3,600 0
OABIM=THE JHZ 3,600,000 3,600
THatzke| 48,914 51,819 A2,905
At 45,714 46,114 400
201 e 45,214 45,214 0
01 At 2t2|bl 7,980 7,980 0
OSEA 2it==d| 7,980
—S0AYINAY 2YL4E
160,000 x204 A+ 123 3,840
—do[ord 2| === 100,000 *12& 1,200
-2t e 120,000& x12& 1,440
—d3tX A 200, 0003 x20 A +22] 800
—g2s UM € = 500,000 500
— 28T & 430 % 10,000& x207H 200
02 E3=23Hl 37,234 37,234 0
O33a2= % MAl 28,240
—dJIe= 500,000& «2IH A+ 122 12,000
— ol 150,000& *12& 1,800
—2BNLTRE3 250,000 23] 500
—usS=ELFE3 300,000 300
—SEA A=t 550,000& «2IH A x 123 13,200
—J0IE 3d= 20,0002 *12& 240
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S g==

HH: =0IME 2Y(43E)

CHRl: Mokl (e &2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
—SAIDIA HHAEY B8 2
100, 000& *x2J4 £ 200
OAdEHl Sl 8,994
—2d= || 2,470&3+1,981m* 4,894
—3t&4 RAY| 100,000& *12& 1,200
—HFEH XYl 500,000& 500
—&2J| || 200,000& x12& 2,400
401 Al&ZHIZ20HH| 500 900 2400
01 Al&tl 500 900 2400
O=JIH 2 OrEZEAIE AX 500, 000& 500
xttetel 3,200 5,705 A2,505
201 Yt | 3,200 5,705 2,505
02 B2l 3,200 5,705 A2,505
O3223 2 HMAl 200
— XS XA 30,000& 30
—NsSx Atz 50,000& 50
—EZMNERES 60,0003 23l 120
OozsExted KAl 3,000,000 3,000
HHSAAY (L2E) 106,896 102,309 4,587
ol A| 66,216 65,229 987
Q12| 54,716 53,729 987
101 el24d| 54,716 53,729 987
01 2= 35,474 35,474 0
O=un222Y 35,474
—55 9,796 x1Hx28A| 2Hx 12 3,292
—6= 8,312 x2Hx28A| 2t 128 5,586
—7= 7,457 3A+4B+28A2++ 128 10,023
—8= 6,682 x2H 28 Al 2tx 122 4,491
—9= 5,993 x6H*28A| 2tx 12 12,082
03 RIAA2 2N E s 19,242 18,255 987
OQIRAQIOHN ol4H| 17,548
=Jl=a 934,990 x1H+12& 11,220
—&0z 11,220,000« 12 *4/12 3,740
—Ax=g 32,7203 x1H + 16 524
—UHeISAt==E 60,0002 x1H+12& 720
— 253 20,0003 x1H+12& 240
—ZU2RY 6, 130 x 1H*15A| 2tx12& 1,104
OQIRoloHl B8 & 1,694
—&MTHEE 17,548,000& %10/1,000 176
—1NE=2E 17,548,000& %13/1,000 229
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HH2AHH(E2S)
el 2|

SA B ER(S) - MRAE - BaS Of &r e HIDE

—=2lH3 17,548,000 %45/ 1,000 790
—Ad2=EE 17,548,000 %26.65/1,000 468
— ORI RLEE 468,000&#65.5/1,000 31

=xalsl 11,500 11,500 0

203 =4I 11,500 11,500 0

01 JA=2gdg =4y 7,900 7,900 0
Ol 228 RF4| 7,900,000 7,900

02 P RFAH] 600 600 0
OZ At R =M 40,0002 x15& 600

04 FAEIER=AHI 3,000 3,000 0
ORN2EHRFLY] 250,000 123 3,000

=& H| 40,680 37,080 3,600

22| 19,080 19,080 0

201 &er=gHl 19,080 19,080 0

01 AtR2t2|bl 19,080 19,080 0
OfA2gllzdtl 16,200
—Et=EH| 40,0002« 158 * 122 7,200
- 50,0002 x15& »12& 9,000
OSAD| &tz 120,000 x20Hx 123 2,880

Gl 21,600 18,000 3,600

202 044l 21,600 18,000 3,600

01 =WHHI 21,600 18,000 3,600
PRFII|=20HI 120,000« 15 * 122 21,600

- 299 -



oF
i’
OF
oJ

Qo | OO | o |o o o | o | o o | o (o [ 2N Ne] (ol NellNel e o
8|8 8|8
R o |0
KIo
E
=)
|0 | QO | O |o (e o | O | O Q| O | O QD Q| Q| O | O Q
%66000 o o | o | O O | O [ © | © | O | N | (o]
ele|ele | = i B NI EERL A b
Sld|e|e|o|- ~ SERSHES N Bl A Rl A ST .
H3r | &~
uiEd
RES
|0 [0 | © © O O o O OO |9 |1 © O O O 9|9 | 9|9 | QIO | Q| QO | o Q| Q
Slele|e|e|jees = & odlF|IT|ImES S en|N|nnn|ldd dF|0|nlb o |d
glg|led|=|o|- - ~o 9 Sl ggeow|d|l~ |-~~~ ~Ig|lg|g|8 £ 2|~
ANl | —
3l
<
(=3
I I W oo o o o w o
[N} o Al O Al Al Al o o Al O
g % g8 % 8 A 8 5 y 8
o S B s ¢ B8 gE g 3 G g
% S S g« § o> s - g 3
] s Qe o WS oW . T W 2
S = & o & d 9 <o =)
. S ol Q S S X O S S
5 T Sgw?o ms =
2 . " s834 5~ 208
< Tﬂ._ _ (V] m _.A_l Co
It = 2 S s v
= ol ol w5 o | R &
~ =™ _w ow 3 2 W oT
= =W e T o o0 o o R
Cl e S 5 2 @ ¢ o = e iR
m RO B RO o0 XD 0 20 R o
mq_w 4o slap sz w % m (s W <+ Mo &0 W £l = I B T O [P I = R !
) Ko (oW~ 0 A A A~ I V= L (P R Bl O = B TR =G )
; W | |z || ® KOO F D) D) KD om R~ 2@ R || Tl ma S |H
Rl el e B =T N - T B B B 3 M0 3 ((Z D |T|T|D|0FK ®|D
R0 21" W= OO O O|% & |w O Olm|a|l Ola|® O |B|R|aA|Z O Ofam
. ol | N — | — N — |wo F{UN I P - o KR |[=|= —
= T|n|®|]|° S 58| CIRSEES 3|7 MEIEIE =)
i EOMM.._D._ IHo Kk MnxT
— | O
Ko | K-

- 300 -



2N REIS

B F0lHEH 2H(AZ1S)
Chel: FQIRIXIME 2% (S5l &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
12 JIEt2 4= 1,260 1,260 0
O=2XXIHEH NHRASAA S 4|
7,000 %180 1,260
405 KHobE=HI 5,100 0 5,100
01 ML =SESFH = 5,100 0 5,100
O3loa MaEd 2 3,600
— g O2AH 1,800,000% = 1CH 1,800
-LES 1,800,000 = 1CH 1,800
O&olal &§Xt 2¢ 150, 0002 104 1,500
2itE Sg=UsAH 3,000 3,000 0
307 2I2+0I M 3,000 3,000 0
04 CIZHHALS X 3,000 3,000 0
OditZ SE=UsHM M=
1,500,000& »23| 3,000
AMBIXNSHE 3,600 3,600 0
307 gIzZtold 3,600 3,600 0
04 CIZHHALE X 3,600 3,600 0
OANZIM=U3S =l 3,600,000& 3,600
TH&k2te| 36,728 31,628 5,100
A2 33,588 27,588 6,000
201 2Bt 23,588 23,588 0
01 AtR22ltl 3,920 3,920 0
OSEAN Zet=ZH| 3,920
—SROAHIANAY 22
150,000& 122 1,800
—2et2e] Hds=== 110,000 x12& 1,320
—&3tE Al 200,000& *x23] 400
—g&s uAd ¥ =2l 200,000& 200
—ATHH & A F 10,000 *20H 200
02 B=243l 19,668 19,668 0
O332= E HMAl 13,580
—NIIe3 1,000,000& x12& 12,000
—Hol=ERs 100,000& *12& 1,200
—EZMNERES 40,0003 23] 80
—WSRUYFES 300,000 300
OA&EHl S| 6,088
—2=2 =Xl 2,470& x1,525.35m" 3,768
—3t&4 KA 500,000& 500
—HFZEHl =Yl 500,000 500
-5 |RAY| 110,000& 122 1,320
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2A:

2EIS

ME: FOIME SE(RE
el a2 &
SA - ZY - SR(BN) - MRAD - BYS e 2t

401 A&BIZ =08 10,000 4,000 6,000
01 Al&HI 10,000 4,000 6,000

OSEA L==3A 10,000, 000& 10,000
Xteketel 3,140 4,040 2900
201 2pt23H| 3,140 4,040 2900
02 2524l 3,140 4,040 A900

O322= 2 HA 140

— XS XAl 30,000& 30

—Xsxt & 50,000& 50

—2Z 30,000& 23] 60

(O E=DNI= 2RI\ 3,000,000& 3,000
HE2AHH(AB1S) 86,356 82,596 3,760
QIR A| 55,756 54,636 1,120
elieala] 45,716 44,596 1,120
101 eIl 45,716 44,596 1,120
01 2= 26,175 26,175 0

O=na22= 26,175

-5 9,796 x1H+28Al 2tx122 3,292

—62 8,312 x2H 28 A| 2tx12& 5,586

—7= 7,457 x 1B *28A| 2tx 12 2,506

—8= 6,682 x3H+28A| 2tx 122 6,736

—9= 5,993 x4 H+28A| 2tx 122 8,055
03 RIAHA22 N E = 19,541 18,421 1,120

OQIRAQIOHN 14| 17,821

—J2=s 934,990 x 1«12 11,220

—&0= 11,220,000« 12 *4/12 3,740

— Xt 32,7203 «1H*17< 557

—HeIsSAtE 60,0002 x1HE«12& 720

—2&0ht3 40,0002 x1H+12& 480

— 2R 6,130 x 1 +15A| 2tx128 1,104

Ol BE8& 1,720

—&THEE 17,821,000&%10/1,000 179

—1NE=2E 17,821,000&%13/1,000 232

—=30AH=z 17,821,000& %45/1,000 802

—HLEE 17,821,000 +26.65/1,000 475

—LoEIRAEE 475,000&%65.5/1,000 32
=Ralsl 10,040 10,040 0
203 PRF=&H| 10,040 10,040 0
01 J| 22 6,600 6,600 0
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2A:

2

&2

B F0lMEH 22(AX2E)
Chel: FQIRIXIME 2% (S5l &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
12 JIEt2 4= 1,260 1,260 0
O=2XXIHEH NHRASAA S 4|
7,000 %180 1,260
405 KHobE=HI 4,000 0 4,000
01 ML =SESFH = 4,000 0 4,000
O3loa MaEd 2 3,600
— g O2AH 1,800,000% = 1CH 1,800
-LES 1,800,000 = 1CH 1,800
OJtilet +¢ 400,000 = 1CH 400
AMBIXSHE 3,600 3,600 0
307 2I2+0I M 3,600 3,600 0
04 CIZHHALS X 3,600 3,600 0
OA2IM=T3l JH=l 3,600,000 3,600
TH&k2te| 36,839 32,149 4,690
EAt2te 33,669 26,799 6,870
201 223 17,669 17,669 0
01 At 2teltl 4,140 4,140 0
Os&E A Let==EH| 4,140
—RQIAHIAIAY 2L
150,000 x12& 1,800
— Yot a2 120,000 x 128 1,440
— 83X HAH| 200,000& *23| 400
—g&s A & =2l 300,000& 300
—2YXM 2 A B 10, 000& *204 200
02 BS24dH| 13,529 13,529 0
O332= E HAl 9,690
—NIIe3 600,000 x12& 7,200
—&ot=ER3 85,0002 x12& 1,020
—ESZNERES 60,0003 23| 120
—WESRUFES 200,000 200
—SEAN AZHI 1,100,000& 1,100
—SAIDIA HHAEY B8 E 50,000& 50
OA&EHl Sl 3,839
—2d= || 2,470&1,108.65m 2,739
—3t&4 KA 50,000& *12& 600
—dHEHl Rl 500,000& 500
401 AIAHILL Y] 16,000 9,130 6,870
01 Al&tl 16,000 9,130 6,870
OFE AL EIIAHED| 2elSAt 1,000,000 1,000
OSEAMN SETHEH ¥ S ITA
15,000, 000& 15,000
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SN AES
B F0IME 2Y(/AB2E)

s N P gl

SA B ER(S) - MRAE - BaS Of &r e HIDE
Rhefae] 3,170 5,350 A2,180
201 et 3,170 5,350 A2,180
02 S3=23Hl 3,170 5,350 A2,180
Os52= & MAl 170
— ALS A 30,000& 30
—NSA BAE 50,000& 50
—SINEREE= 45,0003 23] 90
O&EXtE =Aldl 3,000,000 3,000
HY2ATH(’EB2S) 82,172 82,569 A397
elg =l 54,092 54,609 AB17
bals] 44,092 44,569 N4TT
101 el244| 44,092 44,569 N4TT
01 2= 24,682 26,148 A1,466
o=z 24,682
—52 9,7963 12 #28AI 2t 12 3,292
—6=2 8,312 x2&H*x28A| 2+ 12 5,586
-2 7,457 3 x3H<28Al 2tx 128 7,517
—8= 6,682 x1H«28A| 2t 12 2,246
—9= 5,903 x3E *28A| 2t+ 12 6,041
03 RIAHAZZNE S 19,410 18,421 989
ORI QIoHY Q121 17,701
—Jl2s 934,990« 18+ 123 11,220
—&0= 11,220,000 x 1 %4/12 3,740
— X 32,7203 x1H 17 557
—H2SA=E 60,0002 «1& 12 720
—2HIHt= 30,000 x1H~ 122 360
—Z=22=E 6, 1303 x 12 *15A1 2t+ 122 1,104
ORloloty B8z 1,709
—&HES 17,701,00024%10/1,000 178
—IE=2E 17,701,00024%13/1,000 231
—=2ld=3 17,701,000 %45/1,000 797
—Ad2=EE 17,701,000 #26.65/1,000 472
—LoFIRALEE 472,000 +65.5/1,000 31
=xalsl 10,000 10,040 240
203 R F=4HI 10,000 10,040 240
01 JA2=2gdg =4y 6,600 6,600 0
OJ|2=23dRFA| 6,600,000 6,600
02 P RFAH] 400 440 40
OZ At R =AM 40,0002 10 400
04 FAEIER=AHI 3,000 3,000 0
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Y HR=E—ri=
M HHSAAH|(HE2S)
EHe: ol 2| (creldel
SA B ER(S) - MRAE - BaS Of &r e HIDE
| | ORMNSILREAIY| 250,000 * 122 3,000
1= 28,080 27,960 120
Ut Ay 13,680 14,760 A 1,080
201 Y| 13,680 14,760 A 1,080
01 Atz 13,680 14,760 A 1,080
ORM2ZI=23H| 10,800
— Ut 40,0002 %102+ 122 4,800
— 32| 50,0002 102+ 122 6,000
O=AD| Lxt2 120,0002 *2CH* 12 2,880
ol | 14,400 13,200 1,200
202 04| 14,400 13,200 1,200
01 =W oI 14,400 13,200 1,200
OY2 =X =204H| 120,0002! %10 * 122 14,400
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M DARS
M FOHEH 2H(022S)
ool FORXIME 29 (etol:®e)
_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
01 AtSZeltl 30,780 30,780 0
OFOIRAISIA 80l &AL
30,000 29 123 10,440
OF0Ina ZA= 10,080,000& 10,080
OuEHsns 2AE
20,0002 *25A[ 2t x12& 6,000
OlclsdlzE M= 1603 +6,655F *43] 4,260
301 LEE A= 1,260 1,260 0
12 JIEtE2 4= 1,260 1,260 0
O=CXXIdE AHESAHL S4H|
7,000& %180 1,260
Helg JdAL23HN 5,000 0 5,000
307 gI2told 5,000 0 5,000
04 QUZHHAIE X 5,000 0 5,000
Odels dM2SH & DR S
5,000,000 5,000
Jels Jizs«al 6,000 6,000 0
307 21201 6,000 6,000 0
04 QIZHHAIE X 6,000 6,000 0
Olels 2383 d#A2EHl X3
3,000,000 #23! 6,000
ARIHISCHE 3,600 3,600 0
307 21201 3,600 3,600 0
04 QIZHHAIE X 3,600 3,600 0
OA2IM=3l JH= 3,600,000& 3,600
Atzke| 28,212 29,362 21,150
EAtztel 25,012 25,012 0
201 LEr23H| 25,012 25,012 0
01 AtR22ltl 5,060 5,060 0
OSEAL Let=EH| 5,060
—S0IFYINAY 2YL4E
160,000 x12& 1,920
—gst2te| == 170,000 x12& 2,040
—&3tE Al 200,000& *23] 400
—g2s Ui & =2l 500,000& 500
—AB A & A S 10,0003 «20H 200
02 S22l 19,952 19,952 0
OZ22= ¥ HAl 17,280
—&IIR3 800,000& 12 9,600
— ot es 140,000& *x12& 1,680
—EZNERES 50,000& 23] 100
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SN DU=S
M =OIME

CHRl: Mokl (e &2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
—WERLYFES 400,000& 400
—SEA AZH| 5,500,000& 5,500
OAdEHl Sl 2,672
—2d= || 2,470 +636. 1m 1,672
—3t&4 KA 50,000& *12& 600
—HFEH XYl 500,000& 500
gtz 3,200 4,350 A1,150
201 2Bt 3,200 4,350 A1,150
02 B2l 3,200 4,350 A1,150
O332= E HAl 200
— XS XAl 30,000&4 30
— NS A= 50,000& 50
—ESZMERES 60,0003 23| 120
Oo&ExE |l 3,000,000 3,000
HE2IIH(n2L=2S) 93,575 89,540 4,035
oI 23| 60,455 59,300 1,155
o124d| 49,075 47,920 1,155
101 Q14| 49,075 47,920 1,155
01 2=+ 29,665 29,665 0
O=un22xH 29,665
—55 9,796 x1Hx28A| 2Hx 128 3,292
—6= 8,312 x2H+28A| 2tx122 5,586
7= 7,457 A+ 4Bx28 A 2t x 128 10,023
—8= 6,682 *x3Hx28A| 2Hx 12 6,736
—9= 5,993& x2Hx28A| 2t 128 4,028
03 RIAHA22 2+ 19,410 18,255 1,155
OQIAQIOHN 14| 17,701
=Jlaa 934,990 x1H+12& 11,220
—&0= 11,220,000« 12 *4/12 3,740
— x4 32,7203 «1H*17 557
—HeISAt==E 60,0003 1 *12& 720
—2HJht3 30,0003 x1Hx12& 360
— X2 6, 130 x 1H*15A| 2tx12& 1,104
OuIRoloHl 282 1,709
— A HEE 17,701,000&%10/1,000 178
—J1EEE 17,701,000&%13/1,000 231
-0z 17,701,000 *45/1,000 797
—HLEE 17,701,000 %26.65/1,000 472
— LI RAEE 472,000 +65.5/1,000 31
S22 11,380 11,380 0
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SH: DYRS
d: HH2SEZH(LLES)
=y BReI B tal (S d &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
203 R4l 11,380 11,380 0
01 J|22gg =8| 7,900 7,900 0
Ol 22 HRFAH 7,900,000 7,900
02 FIE R 480 480 0
OZ At R = 40,0003 %128 480
04 FA2IYERFaH] 3,000 3,000 0
ORAN2EHRFAH 250,000 123 3,000
F==l]l 33,120 30,240 2,880
2et=gl| 15,840 15,840 0
201 &er=gll 15,840 15,840 0
01 At2teldl 15,840 15,840 0
ORAM2gII22H 12,960
— 22 40,0002« 128 *122 5,760
—= 50,0002 128 »12& 7,200
O=ADl Xtz 120,000 «2U 122 2,880
1] 17,280 14,400 2,880
202 OH| 17,280 14,400 2,880
01 =UHAHI 17,280 14,400 2,880
PRI =20 H 120,000« 128 x 122 17,280
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SN DA1S
3 FLHH 29 (2H1S)
chel: ZOIRXIME 29 (=R -E)
SA B ER(S) - MRAE - BaS Of &r e HIDE
12 JIet24=2 1,260 1,260 0
OFCRXIHE X2 SAHA S4MHI
7,000& %180 1,260
405 Kok =4 3,600 0 3,600
01 NS SFSHI 3,600 0 3,600
O3lola MatFdl 7 3,600
—ZZ=ZHH 1,800,000 »1CH 1,800
—-LES 1,800,000 »1CH 1,800
A=W 3,600 3,600 0
307 22t01& 3,600 3,600 0
04 QIZHHALE X 3,600 3,600 0
OA2IMI=CHl K 3,600,000 3,600
fat2te| 36,763 42,643 A5,880
A2 33,593 36,993 23,400
201 Lsr2gy| 27,993 30,493 £2,500
01 AR 2t2Ibl 4,040 4,040 0
OSE A Eet=EH| 4,040
—SRUBHANAE 22
150,000& x12& 1,800
—Yat2e| =2 120,000& x12& 1,440
—d3tX A 150,000 x23] 300
—g2s UM € = 300,000 300
— 28T & 430 % 10,000& x20H 200
02 E3=23Hl 23,953 26,453 22,500
O33a2= % MAl 19,200
—dJIe= 700,000& * 122 8,400
— ol 350,000& 123 4,200
—SINERE= 350,000 23] 700
—uUEREFELES 300,000 300
—SEA A=t 5,500,000& 5,500
—TAIDMA BHA Y 2E8E 100,000 100
OAE &l =X 4,753
—2= =Albl 2,4703+1,478.9m 3,653
—at&4 RAY 50,0002 12& 600
—HHEHl KA 500,000 500
401 AIAHILL Y] 5,600 6,500 900
01 Al&H] 5,600 6,500 A900
OSSN SIS 2,100,000 2,100
O=2dle 0|8 ZXISAH
1,750,000 204 2 3,500
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2A DS

& FLHH 2 (2H1S)

Erelr THatte| (S d &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
Rhefae] 3,170 5,650 A2,480

201 et 3,170 5,650 A2,480
02 S3=23Hl 3,170 5,650 A2,480
Os52= & MAl 170
— ALS A 30,000& 30
—NSA BAE 50,000& 50
—SINEREE= 45,0003 23] 90
O&EXtE =Aldl 3,000,000 3,000
#H2AZH(DA1S) 62,762 59,814 2,948
eIy =l 34,682 34,134 548
Fal:) 24,682 24,134 548
101 24| 24,682 24,134 548
01 2= 24,682 24,134 548
o=z 24,682
—52 9,7963 12 #28AI 2t 12 3,292
—6=2 8,312 x2&H*x28A| 2+ 12 5,586
-2 7,457 3 x3H<28Al 2tx 128 7,517
—8= 6,682 x1H«28A| 2t 12 2,246
—9= 5,903 x3E *28A| 2t+ 12 6,041
=xalsl 10,000 10,000 0
203 R F=dHI 10,000 10,000 0
01 Ja=2dg =4t 6,600 6,600 0
OJ|2=23dRFA| 6,600,000 6,600
02 HIRERFaH] 400 400 0
OZ 3 HR = 40,0002 10 400
04 FAE2IER=AHI 3,000 3,000 0
ORAN=2Z R 250,000& 122 3,000
Jl2&H 28,080 25,680 2,400
Lot A 13,680 13,680 0
201 Ler2 | 13,680 13,680 0
01 AR 2t2Ibl 13,680 13,680 0
ORA=gI 22 10,800
—Let=EH| 40,0002 x10&«12E 4,800
—=l 50,0002 10 * 12 6,000
O=AHl SXt= 120,000& x20» 122 2,880
Gl 14,400 12,000 2,400
202 OdH| 14,400 12,000 2,400
01 =UWoHI 14,400 12,000 2,400
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2A:

=EF

=bE
ZOIHE 2Y(2FS)
ol FURIME 2%

SA B ER(S) - MRAE - BaS Of &r e HIDE
12 JIet24=2 1,260 1,260 0
OFCRXIHE X2 SAHA S4MHI
7,000& %180 1,260
405 Kok =4 9,600 0 9,600
01 NS SFSHI 9,600 0 9,600
Oflol ¥ T2y 22U SX 2
260,000 *307H 7,800
OognzAy 2 1,800,000 »1CH 1,800
stOtSU =X 3,000 3,000 0
307 212told 3,000 3,000 0
04 QIZHHALE X 3,000 3,000 0
OstotSU=HM IHAl 3,000,000 3,000
A= 3,600 3,600 0
307 2iz2told 3,600 3,600 0
04 QIZHHALE X 3,600 3,600 0
OAZM=THS oAl 3,600,000& 3,600
M ak2tel 38,083 48,783 210,700
HAt2tc 34,913 44,913 210,000
201 &er=gll 34,913 34,913 0
01 AtR2eld| 4,460 4,460 0
OSHA Yo+t 4,460
—QOIAHINAY 2gasR
160,000& x12& 1,920
—gstae| Helle2 120,000« 12 1,440
— &3t HAHI 200,000& 23] 400
—&Zs UM & 2 500,000 500
— 2N # AP B 10,0002 «20H 200
02 s&=4| 30,453 30,453 0
O352= & HAl 24,740
—HlIe= 850,000& 123 10,200
—aotees 360,000 122 4,320
=P Fab =y 160,000& *23! 320
—uUSREFES 200,000 200
—SEAMN AZHI 800,000& x12& 9,600
—STAIJHA HiAHY 282 100,000 100
OAIZ2 &8l =Xid 5,713
—22 RAll 2,470 993m 2,453
—3t&4 A 50,0002 123 600
—HHIHl KA 500,000 500
—5&J| |AH 180,000& x12& 2,160
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A 2BS
Hu: FOME 2%(2FS)

Erelr THatte| (S d &)
o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
Rhefae] 3,170 3,870 AT700
201 et 3,170 3,870 AT700
02 S3=23Hl 3,170 3,870 AT700
Os52= & MA 170
— ALS Al 30,000& 30
—NSA BAE 50,000& 50
—SINERE= 45,0003 23] 90
OZEXtY =Aldl 3,000,000 3,000
HHE2HIH(LES) 62,010 59,610 2,400
eIy =gl 33,930 33,930 0
kal:) 23,930 23,930 0
101 el244| 23,930 23,930 0
01 2= 23,930 23,930 0
o=z 23,930
—52 9,7963 12 #28AI 2t 12 3,292
—6=2 8,312 x2&H*x28A| 2+ 12 5,586
-2 7,457 3 x1H<28Al 2tx 128 2,506
—8= 6,682 x2H 28| 2t 12 4,491
—9= 5,9033 x4 *28A| 2t 12 8,005
=xalsl 10,000 10,000 0
203 R F=dHI 10,000 10,000 0
01 Ja=2dg =4t 6,600 6,600 0
OJ|2=23dRFA| 6,600,000 6,600
02 HIRERFaH] 400 400 0
OZ 3 HR = 40,0002 10 400
04 FAE2IER=AHI 3,000 3,000 0
ORAN=2Z R 250,000& 122 3,000
|=&H| 28,080 25,680 2,400
Lot A 13,680 13,680 0
201 Ler2 | 13,680 13,680 0
01 AR 2t2Ibl 13,680 13,680 0
ORA=gI 22 10,800
—Let=EH| 40,0002 x10&«12E 4,800
—=l 50,0002 10 * 12 6,000
O=AHl SXt= 120,000& x20» 122 2,880
Gl 14,400 12,000 2,400
202 OdH| 14,400 12,000 2,400
01 =UWoHI 14,400 12,000 2,400
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- _ — Pl
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SEEESSPIERTI 1200002110 * 122 14,400

- 319 -



oF
i’
OF
oJ

glglgls|o° S e SEE AEEEEE AEIEE
IR S 3|3 5|88 §d
= o | — — — | = — | = |= ~N | <
b - al<|«
E
=
ABIBEREE 2 S SEIE 2lglg |8lg SBEE
AR R o < | 2= g1818 |98 HEEIE
P o A Rl R Rl 982 |
(o]
mZ
R
Al ST | ool | © © O O o O O | O (©Q O Q| O |0 O O O O O |9 | o |l oo |9 O |0 || O |2
BB |I|HIKRS K88 8 BB I|NTIIL =288 AIRIBIEBIAI] d18|8[3|D
Jlglg|o|~|" - ©o 9 AR A N S N Rl Bl Bl Al A P
ANl | —
3l
<
=
o o o @ oo Sl W oo W o o 7l
o o AN O — ANl Al A o (=)
S x S x3 o © xoE) g S x
or g8 ¥ g8 88 S 8 D882 g 2
X0 W N S o S 5 B o = 5 x
Bl o <0 uw S H S o lﬂol_a
N S =1 & n — o O AN S <o
S o e g8 ¢ mg
3l 0 W S s 88« <
= m W - &8 o
— o -
I- - o g - & >
= o) ol T o o B R0
~ ME? = W5 o1 3 = al
= T W 2% @ _ o o . o
G N R - al % 20 s
= R Ky my X i ORI Y o 20 R0
b m slzsmTsms w %is|(po M| W <+ m ko W E= =R Iy I I R =R
U oD B |om @~ %0 A A o~ c IR T A (O o - IO =T 3 o
- Dl g | B[ @K MRS B K| T W Wm0~ o R | E o o | oA
= Wm = | oy ol m_,_m ol o) Ho MO | | ol Wrm Mm 0y @l 30 ol B 1 1 1 3 o) |0 20 | o) | X0 o || o m_,_m
R0 %1 W[z OO O O|R|x O O|%|a|w O Olm|a| O|an|m O |=|x|a|=
. ol | N — | — N o | — — |wo = | - |lo RIK|=|=
x T|2|®|R|° S g |° 2|83 o |85 S|= Rla g2
oF x| el |al 1o Kk ol | K-
w| & L &
I
ed

- 320 -



SA: MBS
I FOIME 2Y(MES)
ool FORXIME 29 (etol:®e)
- _ - PSIE!
SA - FHM . (3H) - NRAY - B Off At o oﬁ‘&ofu HR=2
SEEEIEEEEE S
30,0002 %292 x 12& 10,440
OF 0w ZAIES 8,400,000& 8,400
301 LBt8 A= 1,260 1,260 0
12 JIEIE A2 1,260 1,260 0
OF0UXXIAME XS AHL 24|
7,0002 %180 1,260
405 XHAEEIEH| 4,258 0 4,258
01 XA EEFSHI 4,258 0 4,258
Oz Rl 250,000« 1CH 250
OF0IAE 3ols A & X 2 2,008
—3|olsg Xt 260,000 *2H 520
—3log oKt 93,000 1604 1,488
OF0IAIE HLBE] 221 2,000,000 =1CH 2,000
AR AlLBHOLE =T 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 OIZISHAIE X 3,000 0 3,000
O3 X AlCISHOIE =M W= 3,000,000 3,000
ACIHI=OHE 3,600 3,600 0
307 S1Z2to| A 3,600 3,600 0
04 OIZISHAIE X 3,600 3,600 0
OAIBIH=CHE JH=l 3,600,000& 3,600
MAr2e| 29,066 25,516 3,550
AR 25,866 21,366 4 500
201 Yete | 16,666 16,666 0
01 AF22t2ldl 3,600 3,600 0
OSEAF LBt=24]| 3,600
—20IAHIAIAE 242
150,000 x12& 1,800
—gtgtate| a2 100,000 x12& 1,200
— &3l X HAH| 50,0008 *23| 100
—dZ2E A 2 22 300,000 300
— 8T & ASHD| seF 10, 000& 204 200
02 2==29| 13,066 13,066 0
O232= ¢ HA 10,740
APl r=: 500,000& x12& 6,000
—MolEERE 45,0003 =128 540
—SHINEEES 50,0008 *23| 100
—SEHAI A2 4,000,000 4.000
—SAIDIA AR HEE 100,000 100
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FAAES
M ZOIME 2H(MEE)
Erelr THatte| (S d &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
OAIE &l =X 2,326
—2d= =Albl 2,4703 %496 .24 m 1,226
—3t&4d RAY 50,0002 123 600
—HHEHl KA 500,000 500
401 AlZ2HIXR0HY 9,200 4,700 4,500
01 Al&H] 9,200 4,700 4,500
O=oAge 018E WAl 1,500,000 1,500
OF AL ZHSA 7,700,000 7,700
Rpetae] 3,200 4,150 A950
201 &er=gll 3,200 4,150 A950
02 s&=4| 3,200 4,150 A950
O332= & HAl 200
— AHS Al 30,000 30
—NSi dAt= 50,000& 50
=P Fab =y 60,000& *22] 120
OZSAe =Xl 3,000,000 3,000
HH2HZHI(LES) 76,178 78,783 A2,605
el 2| 48,098 53,103 25,005
el 24 H 38,098 43,103 25,005
101 l244| 38,098 43,103 /5,005
01 2= 24,682 24,682 0
Oxl=2 e+ 24,682
-5 9,796 »1H 28| 2t 12 3,292
—6= 8,312 x2*28AI 2t+ 12 5,586
-2 7,457 3 3B +28Al 2t 128 7,517
—8=2 6,6822 12 *28A| 2+ 12 2,246
—9= 5,993 x3 28| 2t 12 6,041
03 PIHAAZZNE S 1,137 18,421 A7,284
ORI QIoHY Q1244 1,035
—Jlz2 934,990 * 1+ 1 935
—H2ISA=E 60,0003 x1H 12 60
—=2SRS 40,0002« 1813 40
ORloloty B8z 102
—&HES 1,085,00024%10/1,000 1
—IE=2E 1,035,00024%13/1,000 14
—=2ld=3 1,035,000& %45/1,000 47
—AHEE 1,085,000&%26.65/1,000 28
—LoFIRAEE 28,000&*65.5/1,000 2
04 JIZtHI2=2NHSE=+ 12,279 0 12,279
OUZCIOHY THMQIE ely] 11,198
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SA: MBS
I HH2AY|(AES)
ol ol o] (etol:®e)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
=] 34,560 x1H =222 * 123 9,124
—FH5rd 34,5602 x1H x4 L 122 1,659
—E =g 34,5602« 18122 415
OueloHy Moy 28 1,081
—ATHES 11,198,000&%10/1,000 12
—JE2E 11,198,000&%13/1,000 146
—=g3 11,198,000 +45/1,000 504
—AHEH 11,198,000 %26.65/1,000 299
—EAIRALEE 299,000 *65.5/1,000 20
E=palal 10,000 10,000 0
203 gR=8| 10,000 10,000 0
01 J|22gE =8| 6,600 6,600 0
OJ 2238 HRFLY| 6,600,000 6,600
02 JRIER=AY] 400 400 0
OZ At 2= 40,0002 %108 400
04 FA2IERFIH 3,000 3,000 0
OFNESHIFAYI 250,000 122 3,000
F==l]l 28,080 25,680 2,400
Uur2 | 13,680 13,680 0
201 &er=gll 13,680 13,680 0
01 ArZ2tcIbl 13,680 13,680 0
OFA23JI23H 10,800
— 22 40,0002 108128 4,800
—= 50,0002 108128 6,000
OSAD| &8Xt& 120,000 =20 * 12 2,880
1] 14,400 12,000 2,400
202 OH| 14,400 12,000 2,400
01 =N 14,400 12,000 2,400
Oge=aJ|Z0| 120,000« 10 * 122 14,400
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